& @ d, " k Kerro desimaalit kymmenen voimalla

Nimi: Piivimadrd: __ Pisteet: ____
2,355 x 1000000 = 3,502 x 100000 =
8, 088 x 100000 = 9,307 x 100000 =
3,292 x 1000 = 1,529 x 100 =
6, 035 x 100000 = 10, 1 x 1000 =
9,416 x 100 = 8,411 x 1000 =
3,77 %100 = 5, 53 x 1000000 =
2,149 x 1000000 = 5,901 x 10000 =
8,801 x 10 = 4,143 x 1000 =
5,72 x 10000 = 7,943 x 100 =
6,883 x 10 = 4,633 x 10 =
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Bele o Ma%

Kerro desimaalit kymmenen voimalla

Nimi:

2,355 x 1000000 = 2355000

8, 088 x 100000 = 808800

3,292 x 1000 = 3292

6, 035 x 100000 = 603500

9,416 x 100 =941.6

3,77 x 100 = 377

2, 149 x 1000000 = 2149000

8,801 x 10 = 88.01

5,72 x 10000 = 57200

6, 883 x 10 = 68.83

Paivamaara:

3,502 x 100000 = 350200

9,307 x 100000 = 930700

1,529 x 100 = 152.9

10, 1 x 1000 = 10100

8,411 x 1000 = 8411

5,53 x 1000000 = 5530000

5,901 x 10000 = 59010

4,143 x 1000 = 4143

7,943 x 100 = 794.3

4,633 x 10 =46.33
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Pisteet:
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